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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

This Question Booklet contains 100 questions in all.

All questions carry equal marks.

Attempt all questions.

Immediately after commencement of the examination, you should check up your

Question Booklet and ensure that the Question Booklet Series is printed on the top

right-hand corner of the Booklet. Please check that the Booklet contains 32 printed

pages including two pages (Page Nos. 30 and 31) for Rough Work and no page or
question is missing or unprinted or torn or repeated. If you find any defect in this

Booklet, get it replaced immediately by a complete Booklet of the same series.

5. If there is any sort of mistake either of printing or of factual nature, then out of English and
Hindi versions of the questions, the English version will be treated as standard.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you along with Question Booklet to mark the answers.
You must write your Name, Roll Number, Question Booklet Series and other particulars
in the space provided on Page-2 of the Answer Sheet provided, failing which your
Answer Sheet will not be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint
pen in the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to
encode the correct series of your Question Booklet, your Answer Sheet will not be
evaluated correctly.

9. Questions and their responses are printed in English and Hindi versions in this Booklet.
Each question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In case you feel that there are more than
one correct response, mark the response which you consider the best. In any case choose
ONLY ONE response for each question. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet.

10. In the Answer Sheet, there are four circles—@®), B), © and © against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle
of your choice for each question. Select only one response for each question and mark it in
your Answer Sheet. If you mark more than one circle for one question, the answer will be
treated as wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the
Answer Sheet. Any erasure or change is not allowed.

11. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer
Sheet to the Invigilator. Thereafter, you are permitted to take away the Question Booklet
with you.

12. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

13. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be

kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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1. National Centre for Organic and
Natural Farming is located at

(A) Ghaziabad

(B) Indore

(C) Ludhiana

(D) Chennai

2. Which one of the following pairs
is not correctly matched?

Crop Disease
(A) Paddy : Khaira disease
(B) Wheat : Grassy shoot
disease

(C) Groundnut : Tikka disease

(D) Potato : Late blight

3. Pedology is the study of

(A) rock

(B) pollution

(C) soil

(D) disease
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The required number  of
3 budded setts for planting
one hectare area of sugarcane
would be

(A) 40000-45000
(B) 20000-25000
(C) 55000-60000
(D) None of the above

Which one of the following is
correct?

(A) P,O5x0:830 = P
(B) P,Os5x0436 = P
(C) P,Osx0-715 = P
(D) P,Os5x2290 = P

The use of blue-green algae as a
biofertilizer will be most useful
in which crop?

(A) Berseem

(B) Maize

(C) Paddy

(D) Potato
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(A) 40000-45000
(B) 20000-25000

(C) 55000-60000

(D) 39 § ¥ FIE T
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(A) P,O5x0:830 = P

(B) P,05x0436 = P
(C) P,05x0715 = P
(D) P,O5x2:290 = P
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Match List-I with List-II and
select the correct answer using
the code given below :

List—I List—II
( Crop ) ( Variety )
a. Cotton 1. UPAS-120

b. Pigeon pea 2. Surya
c. Groundnut 3. Vikas

d. Sunflower 4. Chitra

Code :

=
o
o
o

s
o
o
@]
[oN

S
o
(@]
[oR

‘Ear cockle disease’ of wheat is
caused by

(A) nematodes
(B) bacteria
(C) virus

(D) fungus
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9. Match List-I with List-II and
select the correct answer using
the code given below :

List—I List—II
( Irrigation stage ( Days )
in wheat )
a. CRI stage 1. 80-85

b. Tillering stage 2. 20-25
c. Flowering stage 3. 100-105

d. Milking stage 4. 40-45

Code :

A) a
2 4 3 1

o
@]

(B)

o
o
(o

N
N
—
w

10. e-National Agriculture Market
(e-NAM) scheme was launched
by the Government of India on

(A) 14th April, 2017
(B) 14th April, 2018
(C) 14th April, 2019

(D) 14th April, 2016

4 {0
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a. U™ 1. 3UE-120
N 2. i a. "lo 3o 3MMgo g 1. 80-85
b. f . 20-25
o 5 forg frepea < srazem 2
. IoTEE 3. 100-105
d. gremgeE 4. o © 3
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e .
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TH A
&) (A) 14 31, 2017 #
(B) e @ (B) 14 38, 2018 §
(C) formmy & (C) 14 38, 2019
(D) w%d & (D) 14 =18a1, 2016 &
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11.

12,

13.

Which one of the following pairs 14.
is not correctly matched?
Crop Botanical
Name
(A) Barnyard
millet : Sorghum
bicolor
(B) Finger
millet : Eleusine
coracana
(C) Proso millet : Panicum
miliaceum
(D) Foxtail
millet : Setaria italica 15.
Which one of the following pairs
is not correctly matched?
Fertilizer Nutrient
content (%)
(A) Urea 46% N
(B) Muriate
of potash 45% K50
(C) Single super-
phosphate : 16% P,05
(D) Potassium
sulphate 50% KO 16.
International Centre for

Agricultural Research in the Dry
Areas is situated at

(A) Kenya
(B) Mexico
(C) Nigeria
(D) Syria
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When soil moisture and rainfall
are inadequate during the crop
growing season causing extreme
crop stress and wilting, it is
called

(A) meteorological drought

agricultural drought
hydrological drought

drought year

The process of runoff collection
during the period of peak
rainfall in storage tanks, ponds,
etc., is called

(A) humidity

(B) catchment area
(C) watershed

(D) water harvesting

Koppen’s climatic classification
is based on

(A) mean annual precipitation
(B) mean annual temperature

(C) Both (A) and (B)

(D) None of the above
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17.

18.

19.

20.

25/AGS/M-2023-04/14-A 8

Indian Institute of Farming
Systems Research is located at

(A) Meerut

(B) Ludhiana
(C) Raipur

(D) Dehra Dun

Which of the additional enter-
prises with existing cropping
system in uplands, yields high
returns?

(A) Silviculture

(B) Dairy
(C) Biogas

(D) All of the above

Which one of the following is
an important animal component
in dryland integrated farming
system?

Buffalo
Cow
Goat

None of the above

24.

LEISA is related to

(A) inorganic farming
(B) natural farming
(C) organic farming
(D) dry farming

21.

22.
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Which one of the following is the
coordinating agency for organic
production and export under the
brand name ‘Indian Organic’?

(A) NAFED

(B) APEDA

(C) IOFA

(D) None of the above

The most widely used earth-
worm  species for  vermi-
composting in India is

(A) Eisenia fetida

(B) Eudrilus eugeniae
(C) Lampito mauritii
(D) Bimastos parvus

‘Karnal bunt’ is a disease of

which crop?

(A) Paddy
(B) Cotton
(C) Maize

(D) Wheat

Pradhan Mantri Fasal Bima
Yojana was introduced in the
country in the year

(A) 2014
(B) 2015
(C) 2016
(D) 2017
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25. Which of the following systems 29. Which one of the following is not
of farming does not involve correctly matched?
farmer?
Cro Weed
(A) Capitalistic farming P
A) B Kasni
(B) Cooperative farming (A) Berseem asti
(C) Collective farming (B) Paddy + Bhathua
(D) State farming (C) Wheat Phalaris minor
(D) Pea Piyazi
26. Which one of the following is not
correctly matched? 30. System of Rice Intensification
Crop Sflfd/}}fa)te (SRI) was developed by whom?
g/ha
(A) Wheat 100 (A) Henri de Laulanie
ea
(B) Urd 20 (B) William Gaud
r
(©) Mustard ) 10 (C) Pushkar Nath
(D) Maize . 18 (D) Milton Whitney
27. Which one of the following is not £l 21\/1;0 1s the ?rst T;SOH used the
correctly matched? efinition of weed:
(A) Maize—Tasseling (&) Jethro Tull
(B) Tobacco—Topping (B) Liebig
(C) Wheat—Tillering (C) Helmont
(D) Chickpea—Pegging (D) Norman
28. Which one of the following is not 32. The trade name of Fluchloralin
a type of farm budgeting? 18
(A) Complete budgeting (A) Lasso
(B) Partial budgeting (B) Sonar
(C) Net budgeting (C) Basalin
(D) Enterprise budgeting (D) Arelon
25/AGS/M-2023-04/14-A s Lo 0 TR TR T AR
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(B) faferrm e
(C) TR

(D) foee feeet
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(A) S g
(B) e
(C) o
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33. Directorate of Weed Science
Research is situated at

(A) Nagpur
(B) Jabalpur
(C) Kanpur
(D) Udaipur
34. How many essential nutrient
elements are required by plants

for their normal growth and
completion of life cycle?

A) 14
(B) 15
(©) 16
(D) 17

35. Cobalt has been established to
be essential for which plants?

(A) Leguminous plants
(B) Oilseed plants
(C) Cereal plants

(D) None of the above

36. Who is considered ‘the father of
field plot technique’?

(A) Blackman
(B) Ramanujam
(C) J. B. Boussingault

(D) None of them

25/AGS/M-2023-04/14-A
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37. Flame photometer is used in
the determination of which
nutrient?

(A) Boron
(B) Phosphorus
(C) Nitrogen

(D) Potassium

38. Crop logging concept was first
tried in which crop?

(A) Sugarcane
(B) Potato
(C) Paddy

(D) None of the above

39. Urea was first produced at
(A) Bharuch (Gujarat)
(B) Sindri (Bihar)
(C) Kanpur (UP)

(D) None of the above

40. Which one of the following
irrigation methods is best for
undulating topography?

(A) Sprinkler irrigation
(B) Furrow irrigation
(C) Check basin irrigation

(D) Bed irrigation

12 [N
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34. WYl % A gE= A R Sfaa-
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TIYe Al <l SATETIshal Bt 27 HEC T STSTHRET T o1
(A) 14 (A) T
B) 15 ®) v
(©) 16 ©)
(D) 17 D) e i & B

35. idce fora qul & fow s g

89. N F1 IS T TS FHal gIAT AT

T 8?
(A) T el (A) v (TSH)
(B) foeweft det (B) fa=dt (foem)
(C) @ dheid (C) FHER (30 o)
(D) 3wdw & & i T (D) 3w & & i 7
36. ‘Fies Wz qHAH H SHH THY W 40. S=fi-r=h wemRia % fou fefafea 3
ST 87 o -4 =g fafy e 27
(A) =i (A) sord fim
(B) THTISH B) s fafu
(C) Sto sffo aNifEmTice (C) orer fafy
(D) ¥ ¥ i T (D) @ fafy
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41. The pF value at permanent 45. What is the particle density
wilting point is range for most of the mineral
soils?
@A) 0
(A) 1-8-2:0 mg/m?®
B) 20
(B) 2:5-27 mg/m3
(C) 42
(©) 3-1-3:3 mg/m?*
(D) 70
(D) 3-6-3-8 mg/m?>
42. Which one of the following _ _
devices is used for measuring 46. Inherent capacny of a soil jco
irrigation water on the farm? supply nutrients to plants in
adequate amount and in
(A) Lysimeter suitable proportion is called
(B) Evaporimeter (A) fertility index
(C) Tensiometer (B) soil productivity
(D) Current meter (C) productivity index
(D) soil fertility
43. The neutron moisture meter is
not useful for soil moisture 47. Which one of the following is not
determination in which type of a principal agent of physical
soil? weathering?
(A) Organic soil (A) Hydrolysis
(B) Acidic soil (B) Wind
(C) Laterite soil (C) Water
(D) Alluvial soil (D) Temperature
48. A di to land tatisti
44. Which one of the following crops COpTEITE o fat 'us.e STALSHCS
L. 2018-19, the net irrigated area
is highly tolerant to salt? .
of India is
(A) Potato (A) 716 m-ha
(B) Gram (B) 789 m-ha
(C) Maize (C) 835 m-ha
(D) Sugarcane (D) 884 m-ha
25/AGS/M-2023-04/14-A 14 [ RETURTOmnannn
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41.

42.

43.

44,

Tl gegrH forg W o Who (pF)
WM B §

A) 0
(B) 2-0
(C) 42

(D) 7-0

f=fafaa 4 9 fre oo =1 3w
Td °# =R % gt # A % fog
fora Stram 27

(A) wTgEHIS

(B) TwsdrHiE

(C) friex

(D) = Hix

= T HieX TR yeR i gar § e
Toft fraff w0 % forg swih 72 27
(A) i g

(B) et a1

(C) Wz Ja1

(D) weferet et
frafafaa @ @ ®=F-H woa @ &
it stetere |fewy 87

(A) =]

(B) =

(C) ==

(D) =
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AR @S gar & fow w0 wea-
T o 27

(A) 1-8-2-0 fHo ;o /= o
(B) 2:5-2-7 fHo Uo /= o
(C) 3:1-3-3 foo U0 /=1 Hio
(D) 3:6-3-8 fHo U0 /=1 Hio
el HTE WA H SR 3fa eTguma |

I ad UG A I gaT i HAaHfed
AT HEaTdl 8

(A) 3T gHFH

(B) a1 3cqTaehdT

(C) 3cdTEhdT Ykl

(D) g1 3aT

frfafiaa & @ #F-a1 difas smem o=
T TSie AE 87

(A) STefE geH

(B) =13

(C)

(D) dmHshH

o 3ImEm @ifershl  2018-19 %
IFAR, RA 1 35 Ffd awa 7

(A) 716 Hio Bo
(B) 789 Hio go
(C) 835 Hio go

(D) 884 Hio o
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49.

50.

51.

52.

Central Institute of Medicinal
and Aromatic Plants is situated
at

Z

( Chennai
(B) Shimla
(C) Nainital
(D) Lucknow

The requirement of di-
ammonium phosphate for
supplying 36 kg N and 92 kg
P,05 to one hectare crop is

(A) 200 kg
(B) 250 kg
(C) 300 kg
(D) 350 kg

Which scientist gives criteria of
essentiality of nutrients for
plants?

(A) J. V. Liebig

(B) J. H. Gilbert
(C) A. I Arnon

(D) A. Gris

Calculate the yield of wheat per
hectare, if the number of
earheads per square meter is
250, number of grains per
earhead is 50 and 1000 grains
weight is 45:36 g.

Z

( 52-8 quintal
(B) 56-7 quintal
(C) 582 quintal
(D) 624 quintal

25/AGS/M-2023-04/14-A
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53. If one has to apply 0-65 kg
a.i./ha of 80% atrazine, then
quantity of atrazine required
would be
(A) 045 kg
(B) 0-58 kg
(C) 073 kg
(D) 0-81 kg
54. Sunflower oil is rated as good
quality oil because it contains
(A) low quantities of saturated
fatty acids

(B) low quantities of un-
saturated fatty acids

(C) high quantities of saturated
fatty acids

(D) high quantities of un-
saturated fatty acids

55. Avrodhi variety of chickpea is
resistant to which of the
following?

(A) Wilt

(B) Flooding
(C) Drought
(D) Blight

56. The processing of separating
fibre from seed cotton is known
as
(A) curing
(B) wetting
(C) ginning
(D) retting
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49.

50.

51.

52.

Hm Nl wa gy Mur geH
foora 2

(A) ==gH

(B) ferwem #
(C) o #
(D) &S °

Th BRI FHA ! 36 Toho Wo ATZ2ISH
3R 92 foho To HITHRH I (M
fau eremifEm wighe sl
Bt &

(A) 200 o o
(B) 250 feko ;o
(C) 300 fFo o
(D) 350 fo ;o

et o U diwes qwi ki rferRidr o
e € fore axnfes 3 fean?

(A) So dto fifem
(B) So o fircrerd
(C) To AMZo IAM
(D) To o

Tfq Tear T 1 3us 1 e i,
Ife gfa sriefter anferat it @@= 250 2,
gfg arefl @ i @@= 50 ' 3 1000
T 1 a5 45-36 TM |

(A) 52-8 ferea
(B) 56:7 faea
(C) 582 ferea
(D) 62-4 fea
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fg  fwedt w1 80% TUNA @l
0-65 TFo WMo TlFA wew Tfd TR
TR, Al ITEwEe UINiH
AT Bt

(A) 045 TRo 7o
(B) 0-58 o o
(C) 0-73 fRo o
(D) 0-81 o o

TEEYE dc I =T IUE AT dd
w9 H gl fomm w7, Hifh @e W
STt 2

(A) HqH FER TRl T wH WA

(B) 3THqH SHT STl <l A HET
(C) dqw THR 3TeaAl 6t 3= T

(D) 3TEqH ST Al il 3= T

= H st fhw fRER ufd
et 27

oS FIE B W B AT B Al
1 el ST 8

(A) i
(B) dfem
(C) ffm
(D) ;e
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57. Which one of the following is a

58.

59.

60.

variety of sugar beet?
(A) Pusa Jaikisan
(B) Shubhra
(C) Neelam

(D) Kaushal

How many pieces of citronella
are required for planting one
hectare area?

(A) 40000-42000
(B) 45000-47000
(C) 50000-52000

(D) 55000-57000

63.

The oil content in safflower is
(A) 18%—-20%
B) 28%-32%
(C) 38%—40%

(D) 42%-45%

Bahar is a variety of which crop?
(A) Pigeon pea
(B) Mung bean

(C) Urd bean

(D) Lentil

61.

62.

64.

GET IT ON
Google Play

The term ‘nanotechnology’ was
first coined by

(A) Jethro Tull

(B) Richard Feynman

(C) Norio Taniguchi

(D) None of them

Which of the following is non-
selective herbicide?

(A) Quizalofop ethyl
(B) 2,4-D
(C) Atrazine

(D) Glyphosate

Normal ploughing is done up to
a depth of
(A) S cm

(B) 15 cm

(€) 30 cm

(D) 50 cm

Ryegrass is used as

(A) grain crop

(B) forage crop

(C) oilseed crop

(D) None of the above
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57. Tfaiad § ¥ ®E-# FgHR Fl T 61. HIAEAGh (FARHIATS) ¥eE FETAH

fopem 27 fope =aEr o wmn?
(&) T 5 frEm (A) gtz

(B) (B) T=E A
(C) e (C) =fealt arfieh
(D) et (D) ¥ & P

58. Th TR &F H [uv ¥G FREHen & 62. frHffad § ¥ FH-°1 TR-TATHS

fRpe zohel 1 STTaTsEdr Bt 27 (- i) T 27
(A) 40000-42000 (A) frSTe®T gorTse
(B) 45000-47000 (B) 2,4-D
(C) 50000-52000 (C) ugsH
(D) TATEHIEE

(D) 55000-57000

,
59. TgH § de I TR B & 63. T YAE R MRS T A A &

A) 5 Fo o
(A) 18%—20% (A)

B) 15 Ho Hio
(B) 28%-32% (B)

C) 30 "o o
(C) 38%-40% ©)

(D) 50 @o Hio

(D) 42%-45%

64. TS UM & IW@M fRE aw@ § fE

60. ER foha wua i Jefd 77 T 37
(&) o (A) S BE
(B) H1 (B) = Ha
(C) 3= () ferereett werer
(D) =& (D) g & & ¢

25/AGS/M-2023-04/14-A 19 ([N e.r.o.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

65. Which of the following two 69. At acidic (pH 5'5) conditions,
species of cotton are referred as which ion is dominant in the
New World Cottons? soil?

(A) Gossypium arboreum and (A) H,POjZ
Gossypium herbaceum
B 2-
(B) Gossypium hirsutum and B HPOZ
Gossypium barbadense ©) PO?{
(C) Gossypium arboreum and
Gossypium barbadense (D) All of the above
(D) Gossyp l_um hirsutum and 70. Ageratum conyzoides belongs to
Gossypium herbaceum .
family
66. The term IW/CPE ratio is (A) Brassicaceae
associated with (B) Poaceae
(A) water use efficiency (C) Asteraceae
(B) scheduling of irrigation .
(D) Leguminosae

(C) water productivity

(D) All of the above 71. The requirement of nursery area
for transplanting of tobacco in

67. The volume of pretilachlor 1 ha land would be
(50 EC) needed fgr praying in (&) 50 m2
one acre land of rice at the rate
of 0-75 litre a.i./ha would be 2

(B) 100 m
(A) 1-00 L
(B) 125 L (C) 200m?
1-5 L
© 15 (D) 800 m?
(D) 06 L

68. The chemical group of paraquat 72. The type of germination in mung
is bean is called
(A) bipyridyliums (A) hypogeal
(B) dinitroanilines (B) epigeal
(C) amides (C) hypoepigeal
(D) nitriles (D) epihypogeal
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65. THfatad wum $i ®H-H &1 gt
% g f FE (New World
Cottons) &7

(A) mfafeem e Moy
REILRES

(B) mfafzm fegen WA TEfeEH
T

(C) mfafeag sm&EiFm & mifeag
e

(D) wTfafm  fegew wa  mfafem
REIRE

66. 3o Tsg/Ho o Fo (IW/CPE)
AT o1 T R 27

(A) STl IWANT &qwar
(B) =g =1 au=-fafor
(C) el Scarashel
(D) 3T @t
67. 9 HHA & Tk The &7 H YeaArarn
(50 So Hio) zar Fi 0-75 X Hisha

a ufd 2R H T ¥ Bera & g
Torert W hi Steed B ?

(A) 1-00 wito
(B) 1-25 o
(C) 1-5 o
(D) 0-6 wio

68. W FH TEEF THg F 87
(A) sTeaTsRisicrm
(B) SrEgafet
(C) e
(D) rEgrEet
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69. T (5-5 pH) fawen W ga1 § ford

70.

71.

72.

A Y IRaT Bt 27
(A) H,POL

(B) HPOZ

(©) POy~

(D) 3w Tt

ofsren FHISEey fafaa & & frm
e s

(A) SiEeRE

(B) e

(C) uwew

(D) TrgferTe

T TR & H TR HOe T %
forw drererren =1 &= fhan gm?

(A) 50 =t Hro

(B) 100 = o

(C) 200 =t o

(D) 800 =t o

I ¥ R dRE T STFT AT 27
(A) ETgHISR

(B) ufufsrre

(C) erHfufEe

(D) uftETEdIfSEe
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73. Sri Subhash Palekar is related
to

(A) natural farming
(B) homa farming
(C) biodynamic farming
(D) natueco farming
74. Mono-cropping is practiced in

areas which receive annual
rainfall mm.

(A) <750
(B) >750
(C) >1000

(D) >1200

75. Deficient amino acid in cereal is
(A) methionine
(B) glycine
(C) lysine
(D) cysteine
76. Which of the following is not an

agronomic erosion preventing
measure?

(A) Contour bunding
(B) Tillage
(C) Contour cultivation

(D) Mulching

25/AGS/M-2023-04/14-A
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77. Essentiality of nutrients was

78.

79.

80.

given by
(A) Donald
(B) Brays

(C) Arnon and Stout

(D) Liebig

Rain fed farming is cultivation of
crops where annual rainfall is
(A) less than 750 mm

(B) more than 750 mm

(C) more than 1150 mm

(D) less than 1150 mm

Precision agriculture is also
known as

(A) satellite farming
(B) specific farming
(C) nanotech farming

(D) conservation agriculture

To know the change in cropping
pattern of a particular area,
which one is the best measure to
consider?

(A) Satellite navigation
(B) GPS
(C) Satellite imagery

(D) All of the above
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73. off gum rereR forod wrafaa 27
(A) wrpfaes Tt
(B) = Tt
(C) SR Wt
(D) gt Tl

74. THA BOA YA 3T &A1 F h A 2,

EEECIECHCEIRIG firo o rar

2l
(A) <750
(B) >750
(C) >1000

(D) >1200

g7 HHAl H HH HET § 91 S aTel
UfiEt e - 27

(A) wiRIFH

(B) wmEfem

(C) wmefm

(D) foedm

75.

76. Frfafad & @ &F-H ga1 T Yok

1 I dehAleh &t 27
(A) T afen
(B) feo=

(C) g Wt
(D) #feam
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iy dw@l bl SAHarEdar @ g
foraer gm feam mn?

(A) <A

(B) s

(C) 3TN 3R w3
(D) e

wHAl 1 @dl, Tal ATtk auTd
2, ot 7 HY weerd 2|

750 fio o & H
750 o o ¥ ST
1150 fio o & ST
1150 fio Hio & &1

fufes =i % 9w g oft S
ST 2

(A) #Heerrez FH

(B) wfdfther Ffv

(C) e iy

(D) ©&wr Ffu

foret &= foiw hl wEd ggfd § seamE

F S % fou f=fafea 8 9 foa
3T T ST Gl S 27

(A) Berse AfereH
(B) Sfto tio wHo
(C) e sl
(D) 3T @+ht

23 [WNEIRTT ¢ ...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

81. Azolla Dbiofertilizer is
used in

mainly

(A) sorghum
(B) rice
(C) finger millets
(D) maize
82. In which rice, lodging does not
occur?
(A) Indica rice
(B) Japonica rice
(C) Javanica rice

(D) All of the above

83. The inflorescence of sugarcane
is known as

(A) arrow
(B) panicle
(C) capitulum

(D) racemose

84. Which of the following is best
example of catch crop?

(A) Lentil
(B) Mustard
(C) Toria

(D) Groundnut

25/AGS/M-2023-04/14-A
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88.
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International Potato Research
Centre is situated at

(A) Shimla

(B) Peru

(C) Rome

(D) USA

Cyperus rotundus is also known
as

(A) nut grass

(B) Japanese grass

(C) tough grass

(D) elephant grass

Which of the following is a sedge
weed?

(A) Cyperus spp.

(B) Cynodon

(C) Avena

(D) Echinochloa

Crop-weed competition period in
transplanted rice is

(A) 15-25 DAT
(B) 30-45 DAT
(C) 25-30 DAT

(D) 45-60 DAT
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81. god: fhE wHA H TSI H ITAN 85. IIAUIFIT e TIHUH % el feud 27

fepan STrar 27

(A) femer
(A) SR

(B) &
(B) &m

(C) W=
(C) i

(D) o THo Te
(D) e

o 86. UEWH U2ed +ff Fed 2|
82. fohm g™ & wifom & rar 27

(A) sfeent g™ W)
(B) STaifeeRT e (B) o
(C) ettt & (€)==
D) T wh (D) e o

83. T 1 [N FEAE B 87. Tfafad # ¥ A WUAIR -1 77

() @ (a) e
(B) et (B) =
(©) g (©) Sef =
(D) et (D) st

84, Trfofiad & & HF-41 9 H19 %1 god 88. uiWIfUd oM ¥, wocl WHdar Tfaeadt

IR IR B Y @

(A) X (A) T % 15-25 fadi & @
(B) @&l (B) T &% 30-45 f&=i & =g
(C) e (C) ur & 25-30 feA1 = =g
(D) et (D) T % 45-60 el % =
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89. Weed dispersal happens in
Tridax procumbens by

A) comose

C) pappus

(
(B) balloon
(
(D) None of the above

90. Bamboo drip irrigation @ is
practised in which State?

(A) Chhattisgarh
(B) Telangana
(C) Maharashtra
(D) Meghalaya
91. The gas generated from the cow

dung during anaerobic
decomposition is called as

A

~—

biogas

Y

methane gas

Co,

—
\_,:v

All of the above

92. IFOAM stands for

Federation
Agriculture

(A) International
of  Organic
Movement

(B) Indian Federation of Organic
Agriculture Movement

(C) International Federation of
Organic Agri Movement

(D) Indian Federation of
Organic Agri Movement
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Nutrient composition of
contains 0:5% N, 0:2% P,O 5 and
0-:5% K5O.

(A) FYM

(B) vermicompost

(C) sheep manure

(D) goat manure

Bactra verutana is used as
bioagent in which plant?

(A) Cyperus rotundus

(B) Parthenium hysterophorus
(C) Ludwigia parviflora

(D) Opuntia dillenii

Which of the following is a
biennial weed?

(A) Daucus carota

(B) Cirsium vulgare

(C) Cichorium intybus

(D) All of the above
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89.

90.

91.

92.

e R o o T 1 B T o
(ER) 3 '@ gl

TAT I AFAAT | ATERA (TaEE)
% SR T % M ¥ 399 g arelt 19
FEeATdl B

IFOAM #1 Haelsl 8

(A) EIEA HelRM  IATh 3T
Witshe=R gae

(B) Ifemm welww  AT®  It®
Witshe=r gaHe

(C) TTAIAS %W ATh AT Wit
e

(D) sfesm welgH A6 STl wit
qaHe
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forEs 9w a7 0'5% N, 0-2%
P,05 3R 0-5% K ,0 Bl &7

(A) ®H TE TR
(B) =ff e
(C) 9 & g (3 A=)

(D) s F @rE (M B=IR)

d9g1 d®eHT H IwAN fohm diEg w
fEfE ® % fou sEese & ®9 #
fopam Sfa 27

(A) WY esE

(B) I feeRkIerRg

(C) gl TRIaFaRT

(D) g fecr
zﬂ%@aﬁﬁaﬁq—wﬁwﬁmm
?

(A) SIHg T

(B) RRfe=m ik

(C) F=ifem Zerzeg

(D) IwI® weft
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97.

List-I and List-II contain
crops and corresponding water
requirement, respectively below.
Match the columns and choose
the correct combination from
the code given below :

List—I List—II
a. Pea 1. 600 mm
b. Sunflower 2. 350 mm
c. Sugarcane 3. 500 mm
d. Maize 4. 1500 mm
Code :
(A) a c d
2 1 4 3
B) a b c d
1 2 3 4
(C) a b c d
4 3 1 2
(D) a b c d
3 2 1 4

If recommended dose of fertilizer
for finger millet is 40 : 30 : 20 kg
N : P: K/ha, then what amount
of fertilizer required for one acre
area, if the source is urea, DAP
and MoP, respectively?

(A) 61 : 65 : 33
(B) 245 : 26 : 13
(C) 868 : 65 : 33

(D) 347 :26: 13
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Which of the following is a
P-mobilizing biofertilizer?

(A) Bacillus polymyxa

(B) Pseudomonas striata

(C) Aspergillus niger

(D) All of the above

‘The father of community-led

watershed development in India’
is

=

Hermann Bacher

(
(B) Verghese Kurien
(C) Sam Pitroda

(

O

) None of them

List-I and List-II contain crops
and corresponding family,
respectively. Match the columns
and choose the correct
combination from the code given
below :

List—I
a. Cotton

b. Jute

c. Linseed

List—II
Malvaceae
Pedaliaceae

Linaceae

A Y

d. Sesame Tiliaceae

Code

A) a
1

w O

(B)

©)

o ND
w 0O

— o T WT NT
@) H» O

N N~ o o

A ©
w
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97.

A1 R G-I § HA: woel IR
grafea aHt it TavEehar 1 faER
feam men 21 gt @ e i @ik

= fou U e @ W wASH g
-1 11

a. X 1. 600 fHo Ho
b. gLt 2. 350 fuo o
c. =l 3. 500 fuo o
d. g=1 4. 1500 fio o
e .
(A) a b c d

2 1 4 3
(B) a b c d

1 2 3 4
(C) a b c d

4 3 1 2
D) a b d

3 2 1 4

Ffs Tt < foru 3dwh it sryeifea A
40 : 30 : 20 fho WMo, w0 o o
ufd R 2, A TH THS &F F [
foraa 3dter it sravEeRar B, afe |
m:w,@p{oQoqﬁoaﬁ'{W
ATE qreTe 27

A) 61 :65: 33

o 2z

245 : 26 : 13

e

868 : 65 : 33

e e

S

347 : 26 : 13

25/AGS/M-2023-04/14-A

98

GET IT ON
Google Play

FfaRgd § ¥ HE-81 do -Hifeaiom
Sa 3 &7

(A) sHierg iferfiear
(B) HSMHRT &l
(C) srfoferg T1EsR
(D) I aft
99. ‘M H WHEW % g ATl ARRIE
forra’ % S 2
(A) TR SR
(B) =rfis i
(C) am f=ran
(D) T & 5 T
100. H-1 3R G-I # FHAM: FHAT 3R
wEfa Fa @ fgewor fem mn gl
gfeat w1 e il ot Fi= few T
-1 Te-11
a. I 1. ATcraEt
b. 52 2. vetferudt
c. drdt 3. foas
d. fa= 4. fefoud
e .
(A) a b c d
1 2 3 4
B) a b C d
2 3 4 1
(C) a b C d
1 4 3 2
(D) a b c d
4 1 3 2
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